Chapter 6 — Exam Practice

1} Find the measure of a single interior and exterior angle of a regular nonagon. : 4o
* _2).1%0 = (9-2):180 = 120 9 S|
Interior Ang]e:lq—o (n-2)+1% (

Exterior Angle = ""o. 30O ":' q = 4o

" wia
2) The sum of the interior angles of a"golygon is 2880°. How many sides does the polygon have?
Sides = |% ' (n_?') '___‘@ = 26%0
m

For #13-27: Find the missing measure(s).

3) 5 = 132 o MR
Figure is a parallelogram.
b/ lpu ok = 132
48° a
5) 6) e S0

300 - 310

7 - 4YF 22-_\0% g we= 20
£L3= ss Figure is a rectangle.
K F
Figure is a parallelogram.
10
. ") _ -




LXt20 Uy =180
1oO%X+ 20 =10

10) /1= 4 & s2- S

10X = Lo 54°>
o ho 4
sY
X = ik 3
1)  x=_(p y= 2 12)  x°= 45 w=_90
. . % . .
Figure is a parallelogram. Figure is a square. &
-~ By — 4
Sx=Y = 2%+14 Zyx
3y =18§ } 4 14 <
" U =2‘? 2%+ 14
X = . ;
s ¥
13) = & v = 14 14) y=____"H

Figureis a kite.

3o -1l -1 dL-HF

15) m= ‘ﬂ

Figure is a parallelogram.

7m-16

16)

Isosceles Trapezoid perimeter = 164

y+12 “lj -2 >y

>. qi =230
\l - Z -12
j=44
) .
y
20
The figure is a rectangle.
S5
ZACB=60° AB=20 G
BC=15 AG=125 o o
30 30
D
-]
saDG= O - Gec= 12.§5
sacD=_ 30° BD= 25
7 2-02 +1S "'e
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Honors Geometry (2008-09)

Chapter 7 — Exam Practice

For #1-18: Find the missing values for each problem.

D Area = l"\s ‘F“'z
13 £t
= bh
= 1301)
= 143
) co=_3%"
CeMC-10 =1€0
PA §¢ - 10 = 180
Q — 107 S¢ = \qo
(4¢c = 10) c - 38

: y B
5 Area=_Z2%b T un
Circumference = 3ZT_ VN

(Leave your answer in terms of m)

7) Area = Zqﬁ le

(Leave your answer exact)

2) Area=‘_,‘_f¢-‘l‘0"_2' m"
A= 3bh
= = ((12)
=102

H  Ara= 1Sinc
ﬂ:ﬁh(bl'\-bz)
= »LaC’:)('-Hb)

K =15 12|\

81 2
8)  Shaded Area= & W ¢m

(Leave your answer in terms of )

Regular Hexagon
g: é G-P qg 2
4 cm \ 00 ¢
SRR =5 (Z‘ﬁ) 24 200 2
| B

= 2473 2
g

g




q
9)  Length AB=__ 2 woem
(Leave your answer in terms of )
L, ard
L{
1Y
S L
o
\$
A T v

= 318

(Leave your answer exact)

(92-1-% 2=

11)

h =
Parallelogram’s Area = 315 square units
A=bh
215 = 13(h)
h=24.2

18

15 x= W |-

(Leave your answer exact)

sﬁ 2%
x "H-?; x./l ‘-l’Fl

83

Area= 3o *3ﬁ £ 4 z

- (Leave your answer exact)

A= EhCburba)

17)

= —\\,k

gy - 4%*

Honors Geometry (2008-09)

Area= (p-“:iﬁ -mmz"

(Leave your answer exact)

10)

Equilateral Triangle

=4 (s)(z sﬁ)
= (,q‘wl"'

Area = \Zﬁ" cm?‘

(Leave your answer exact)

12)

%
L*r*=%
X 2= 2% A=3bh
X =128 =4
=873 = 247
= 23
14)  Area=_72 e
(Leave your answer exact)
Square sise=va |*
i, L=222  EeelE |
_’ Tz. 34
2‘ = B‘JE a2 = 32
4 2
16) Shaded Area= ":'51 w4

(Leave your answer in terms of )

120"

mz/&ﬁ:
Lengthof "AB =21 cm

y s N,

18)

L L rardE

. —— AN
AT zw= 2=
= 2 (18 +447) 360 .
- 20483 2=0 @a=(20

o



. Honors Geometry (2010-11)
Chapter 11 - Exam Practice

For #1-12: Find the missing value. Look at each problem for special instructions on rounding.

L ‘6*'
]) nt@TB: Zlg

o o= NI g

o ¢
2) n16ﬁ= bl

3)  »TBD = VRO

5 x=_bS 6 x=_14.E un 7)

(Round to the nearest tenth)

" . q‘ p
2 z & .
3 ‘;g}_:: |20 ~80 = ju0
-3¢ =108
Y | 50
8)  x= &ﬁ v 9) 10) o= 3%
(Leave answer exact) b° = 52 °
c® = QOBO
&= m 1
o




Honors Geometry (2010-11)

1) x°=_&0 12) x»x=_%.% uwn
J |sT= ";';"O LT (Round to the nearest tenth)
isw = & SAT
157 0 y.2 5
oxlb = %—3; K20 X 4.5

s00< 30 |19:9=SX
L a»=_?_9 xga'}%
K A
& K=59

13)  Two concentric circles have radii of 7 cm and 25 cm. Segment AB is a chord of the larger circle and is
tangent to the second circle. Find the length of AB_ '

AB= H % ern

For #14-17: If a dart is thrown and hits the given random, find the probability of it hitting
the shaded region, 1

14y Pshaded Region -3 oy 33T 15)  P(Shaded Region)=_'1 = 23 I
2
]
4-w ° 5 |
= . 3 l. — el
16)  P(Shaded Region)=___ | a* 17)  P(Whic Ring)=_q_ = 55

Center circle has a radius of lem,
2% eircle has a radius of 2 cm.

3" circle has a radius of 3 cm.
R we®
4w -4 = 5W
ST

S K | .




| Honors Geometry (2010-2011)
Chapter 8 - Exam Practice

For #1-3: Solve each proportion for given variable.

) x=_HZ ) y=_F 3y w=_ 3T
4% (Leave your answer in terms of m)
412 H“z_—qx (y+3)_60 35(3"’;):’”0'} 45 _ w  Bbow = HE 24T
4 x 0% . 7735 aSY+IAT=UZO 360 27 gyp. = l0gOT
i =
H 354 = aqs W= 3T
=3

For #4-5: For the following pairs of triangles, you must dg the foHowing:
(a) Determine if the given triangles are similar (circle Yes or No).
(b If “Yes”, state the postulate that proves they are similar.
(¢) If“Yes”, write the similarity ratio,

4) a)  Similar: No - 5) a) Similar:  Yes

b) Postulate: P; G’ ~ b) Postulate:
- A
c) Similarity Ratio =__ "& c) Similarity Ratio =
4 o I
X N W 1z _2 F 24
11 o = 4 N
9
E _‘.‘—;—. = —E R 12 16

z Y 24 ¥ T

x . AOMG hasg its vertices at the following places:
0(4: 5)9 M("Sa '3)3 and G(4= '2)

a) Graph AOMG

b) Graph and label the image of AOMG
under a dilation with a scale factor of 7.

¢) Are AOMG and AO’M’G’ similar?

d) If you answered yes to part (c), find the
similarity ratio for the two objects.

For #7-10: Find the missing value(s).

9 C D
-~ ; vaa G
O
Y= m L‘ A --—_______3£)°\i 5 G 8 »
g T S 5

o

ACAT ~ ADOG 2 = .lg. -
8 U |lbX =40



9)

1)

Honors Geometry (2010-2011)

x=_18.F vn 1) x=_9:5 vn |
(round answer to a tenth) (round answer to a tenth) 4

i = .K- -—é = -ﬂ- 3

© le 10 7 4+K X
¥ =hz  K=18F o = 3(u4+x)

Perimeter o NPQR=_ 105 pn o = IR +3x5 10

Kite HGKL ~ Kite NPQR 2%=3%

N SN
3545 x f“’g"l?m 2:»:»!13

12)

13)

14)

15)

16)

17)

The negative used to develop a plcture is 3 inches long by 2 inches wide. If the negative is developed to
create a snnlg: ; iter whose width is 9 feet long, find the length in feet of the picture.

. ax = HY
Length = m. 2ip_} “",‘Q"s gl | Mn X=ub+iz

3
smmor A .2 a¢s32 4“'"‘”

Use the two cubes to the right to answer the following questions. | ‘ (92. 135
a) Are the cubes similar? Yeg 4 2 e - ‘ i
b) What is the ratio of their surface areas? =z = 29 | 4 : ‘,:__ _m
) What is the ratio of their volumes? _ii = 9—"{ ??4 "4
5’ 125

2

The surface area of two sima amids are 49 in.2 and 121 in* Find the following ratios:

a)  Similarity Ratio = 141 _ 3
‘ o= P TIRT)
b) Volume Ratio -ﬁ_’

Two similar prisms have a volume ratio of 40:135. If the surface area of the larger prism is 342 cm?,

find the surface arsa é)fz‘fle smaller prism. ‘40 23 .
Surface Area = | 55 At

: . 8 .2°
&Ceaz

A drawing of steam locomotive is maﬁ;athhe scale + inch =1 foot. Thetramln the drawing is 62
inches long. How long is the real train?
& 5 K tn . 0.35in €. b.35= g?‘- 'Y

Length = 5"' £4 ﬁ X

X=54

If Madeline is 5 foot tall and casts a shadow that is 7 feet long, how tall is her friend Babar if his shadow-
is one foot shorter than Madeline’s? (Round your answer to the nearest tenth of a foot)

=
Height— 4.3 %4 I —S——— L ‘;"--‘%- —
554
Ix=30
X=d.354




Honors Geometry (2010-11)

Chapter 9 - _Exqm Practice

For #1-6: Using the triangle to the right, write the following trigonometric ratios (fraction). Be sure to
simplify your answers.

12/ R
1)  sinZP= 73 ;
\ 12
2) tan £G = /l p G
3) cos LP = gllb 13 Q
oz . 12 45°
4) cos LE=_ |2 2 47 lZ'—’Lﬁ 12 T3,
lz/ 7 = % |
5)  tamsP=_ {9 o
| - 1242 45 [
6) sinzQ=_ {13 2 E (42 O
b2 |

For #7-9: Use your calculator., Round trigonometry ratios to 4 decimal places. Round angle measures to
the nearest whole degree,

7 tns6°~ LHE2l $) cost (@)~ HYg' 9)  sin60°~ - Blob0

For #10-18: Find the value of x. Round side lengths to the nearest tenth. Round angle measures to the
nearest whole degree.

10) x~ 54-% 1 x~_9-b 12) x°=» 26"
, o_ % .5F e 9 ._12
5% « cos 16 57 sin 70 » tan x 23
-1/ 12
fan (&)
13 x~_ 29 14y x~_ 5.l 15 x~_H9°
10
X X V
23 — 48° ! .
LM 5
siny = -
2% = X cos X = 6%
s-...-.(-,g\) +aﬂ qg#f _ 1o
wn { =
3 s/ .S
cos ' (&F)



Honors Geometry (2010-11)

16) x~ + 8B 17)  x~ 3‘1' 18) x~ lo. b
I ,
X X
_‘.'l O
T y = X
cos t-{o:.%. Fank® 7 Sih 70 5
- -}
- L A
19) Arear 257F.l In 20) Areaxr 1968 cm
(Round answer to a tenth) (Round answer to the nearest whole cm?)
. A Regular decagon that has a side
. 3‘* (24)( 26) sih 54 length of 16 cm.
Aan k= £ ﬁ = éa- P
o T X
>4 - \ x=24.6 A=2 (244)( o)
26 in. X

B

21)  Irmais flying a kite. She lets out 105 feet of string and anchors it to the ground. The angle of elevation to
the kite is 48°. Find the kite’s height above the ground. (Round your answer to the nearest whole foot)

Height = 38 -$+ oS £ | Slhqu;%
©

X

L{%®

22) A plane flying a 10,000 feet spots a hot-air balloon at an altitude of 9000 feet and a 30° angle of
depression. What is the ground distance between these fWROb_] ects? (Round your answer to the nearest

whole foot) w joos  dan 3Dz 1090
)‘

Distance = \3'52. £4 f

19,000 q,000

23)  What is the exact answer for the Sin.60°. In other words, what is the fraction answer for this ratio?
Explain your answer. JDa.meéplug the problem into your calculator and give me the decimal answer.

B 145

Sin60°=_2X ~

— 603f" 2'_.)‘ —

u age

X3




Honors Geometry (2010-11)

Chapter 10 - Exam Practice |_§3_(,J'+zw m‘]

For #1-6: Find the surface area and volume of the followm z objectsI. X _- each problem for spemal
instructions on rounding,. R ,

o
1) Surface Area= 1+ 31\"‘\}%1{ mh

(Leave answer exact and in terms of 7) (Leave your answer exact)

3 . 3
Volume=_{9 1T m Volume = %@"’ir 1l

2 (Leave answer, exact and in terms of ) ve your answer exact)

3+$ K

(3t ) V)

4 + 3w 3y -
‘ ‘122
3rrth z ]
[~— 6 m—| A (8) . (112) ‘élﬁ) '“
3 W2 +28k=n?
'g wia)ls) T penedio) Weo =X &
S 1 3 b““ 2 50 =X
.,:.qﬁ, qav2 (le)  TZes TR =X
=8odV2 1SV% =5
. A . &
3) Surface Area = HE T in 4) Surface Area= 200 I
(Leave answer in terms of m)
. 3 . 3
Volume = HS T i Volume = H@Q 14
(Leave answer in terms of ) | ‘
€8l 2w+ Ch (s8] 43k s
3in. SR S SCe)(1BY + 10
+ Q
C— g1 + 30T 2O+ 10
5 in - B0
L
V] we?. (v g bhk
w5 3 10° L(t2)
w5
= HOO

T4




5)

7)

8)

. 9)

10)

2'-|0 ¥ L{‘B ﬁ cm Honors Geometry (2010-11)

2-
Surface Area = AMUIFAYN W 6) - Surface Area= M + 23T 'g-%'
(Leave your answer. exact) (Leave your answer exact)

, 3 3
Volume = _ 40 ‘Jg om Volume=_F2 +{§ 1K £+

(Leave your answer exact) (Leave your answer exact)

@ w(b: ) & P) 2
= o (10 ‘l)i<-1- 243 (ga-g)

= 240 +24-§
2qo+ He

Aﬂ = -*@. P (Y
= wiza&“MMcw}

Cire » WM" @

> g"igﬁ Q;.@,t'%‘ ?rum (qu! L @
cﬂﬂmw ,g, e ek
= 3 (N (4
8‘
A sphere has a diameter of 10 cm. Find the surface area and volume of the g here eave your
answer in terms of 7. § <Al Yuvd 2 j ﬂ
Surface Area=_1QQ I € = 4ql 5) - f
| v 3 = (00T PEwes

Volime=_tiplp 3 1% ¢ aE(ﬁl@%W

A straw has a base opening with a radius of 8 mm and is 100 mm long. How much plastic is
required to make this straw? (Round your answer to the nearest tenth)

2 ‘
Plastio= §,026.5 min_ i - 4O°
‘ 1A LAY

0@

A cone has a volume of 80w cm®, If the cone s height is 15 cm, what is the base circle’s radius?

2 3
Radius = L‘S A AANE V= BW" r %ng’“ﬂ"f
QQW@J&‘W “g) Mgsarz"
r=%Y

A cylindrical water fountain is designed out of cement and in the form of a cylinder with a smaller
cylinder cut into the center. The outer cylinder has a diameter of 8 meters and a height of 1 meter.

The inner cylindrical hole has a diameter of 7 meters and a depth of 3 2 meters. If each cubic meter
of cement costs $31, how much does the entl%founta cost to make?

N, ﬁ% WR H - we '
Cost = o2l f ] 2w = WD TES CEY
' 50.268 - 28.805

= 21.M02 % $3L

W




